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N = 10000;
M = 20;
fs = 10000;
f0 = 500;
t = [0:N-1].'/fs;
x = zeros(N,M);
for v = 1:M
x(2001:6000,v) = 0.1*sin(2*pi*f0*t(2001:6000));
end
x2 = zeros(N,M);
for w = 1:M
x2(2001:6000,w) = 0.1*sin(2*pi*f0*t(2001:6000)+0.01*w);
end
x3 = zeros(N,M);
for s = 1:M
x3(2001:6000,s) = 0.1*sin(2*pi*f0*t(2001:6000)+0.2*s);
end
y =0.2*randn(N,M);
z = x + y;
z2 = x2 +y;
z3 = x3 +y;
za = cumsum(z,2)./repmat(1:M,N,1);
za2 = cumsum(z2,2)./repmat(1:M,N,1);
za3 = cumsum(z3,2)./repmat(1:M,N,1);
subplot(3,1,1)
plot(t,za+repmat(1:M,N,1),'k')
set(gca,'ydir','reverse','ylim',[0 M+1])
xlabel('時間(s)')
ylabel('平均回数')
subplot(3,1,2)
plot(t,za2+repmat(1:M,N,1),'k')
set(gca,'ydir','reverse','ylim',[0 M+1])
xlabel('時間(s)')
ylabel('平均回数')
subplot(3,1,3)
plot(t,za3+repmat(1:M,N,1),'k')
